
 

Q1.  A charge of + 3.57 𝜇C is placed at the origin.  A second charge q2 is placed at 𝑥 = 3.00 m. If a 

charge of 1.00 𝜇C experiences no force if placed at 𝑥 = 4.00 m, then the charge of q2 in 𝜇C is: 

 

A) -0.397 

B) 0.223 

C) -0.223 

D) 0.397 

E) -2.01 

 

 

 

 

Q2.  How much work in the units of 10−24 J is required to turn an electric dipole 180° in a uniform 

electric field of magnitude 39.7 N/C if the dipole moment has a magnitude of 3.02 × 10−25 C m and 

the initial angle between the electric field and the dipole moment is 64.0°? 

 

A) -1.33  

B) 10.5  

C) -10.5  

D) 1.33  

E) 21.6  
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